Pythagorean Theorem — sample MC
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2. A baseball diamond is a square with a side length of 90 feet. To the nearest foot, what is
the distance between first base and third base?
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A 8101t

B 901t

C 180ft

3. A flower garden is in the shape of a right triangle. One leg of the triangle is 6 % long and
the hypotenuse is 12 ft long. What is the length of the other leg?
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13 ft
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4. Which of the following sets of numbers representé a Pythagorean Triple?
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6. A right triangle has legs of lengths 9 cm and 12 cm. What is the length of the
hypotenuse? o

:f A% 15 em

22 cm

C 25¢m

D 14cm

7. A triangle has legs which measure 15 inches and 20 inches. Find the length of the
hypotenuse.
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8. A 20-ft-long wire is used to support a television antenna. The wire is connected to the
antenna 15 ft above the ground. How far away from the base of the tower will the other T
end of the wire be located? N @fk A & ‘@se» s \%@ ﬂ)
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9. Gina is making a quilt in the shape of a right triangle. The measurement of the diagonal { ‘
of the quilt 15 36 in. long. The width of the quilt is 15 in. long. What is the approximate k )
length? .
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Complete the questions below: :
Compare the following numbers using < or >. Find the value of:
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Toblerone comes in an iconic
triangular pnsm package. How many square cm of paper is required to wrap up a Toblerone bar?
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If the packagmg costs the company two cents per cm2 how much does it cost to wrap up one Toblerone glwél{
bar? -
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The company estimates the cost.to make a Toblerorie bar is 2 cents per cubic centimeter. How much
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does it cost the company to make one Toblerone bar?
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You have been saving your Toblerone bar all week. When you go to eat ityou see that your sister ate

half of it. What volume of delicious chocolate is left for you to eat?
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